A YN
SN 5

NCROBANAN\T: . %
ACROBAT M36 TAPPING MACHINE An gk.q
MANUAL i Wy )
W . Y 4
9
o
4 S
&
J "Lh
‘.\ Aﬁ,
J% 1 %
Producar: ~ . _
MI’:‘F@\'RT@/IEKANIK MAKINA SAN. P H U
*"[IC, -L-TP- STI.
«Ioevler Mah. 23. Sok. No:15 O
N-il_ilﬁer/ Bursa/TURKEY Tel. 91 435 84 34, Fax 91 489 44 56

e-mail: maszyny@pax-maszyny.pl

WWW.AZARSANAT.COM
info@azarsanat.com - f@ azarsanat a azarsanat Q azarsanat - 66761178 - 66711800 - 66710476



1 HYDRAULIC'H JOSE* 12
2 PISTO]; AD US"IM NT HANDLE 13
3 REAR PARALTEL ARM 14
4 FRONT éRé‘LLEL ARM 15
5 PISTON 16
6 HYDKQO MIOTOR 17
7 Kﬁn &[ 18
'R’ HA E RING 19

‘9 TON ADJUSTMENT HANDLE20

312 OTTOM ARM FIXATION BOLR1

.BASE FLANGE 22
ok}

BOTTOM ARM

T SLOTS

3 PHASE , ON-OFF SWITCH
MACHINE START
MACHINE STOP

HIGH SPEED SWITCH
SPEED CONTROL
MANOMETER
EMERGENCY STOP
DIGITAL TACHOMETER

LEVEL AND HEAT INDUCATOI
WHFEFT.

WWW.AZARSANAT.COM
info@azarsanat.com - f@ azarsanat a azarsanat Q azarsanat - 66761178 - 66711800 - 66710476



Contents K

1- Safety Rules ----------=mmmmmmmmmmm S Page 4 -
6

2- General Explanation  --------------&---4-———-2 Page 6

3- Technical Properties -----------z=---------2% Page 8

4- Standard Accessories --------&-----o-f3e - Page 8

5- Optional Accessories ---------=s--=--dui-—- Page 8

6- Machine’s Assembly ---=--s——--2 -t Page 9

7- Machine’s Operation === 3emmmmomoooooo Page 10-
14

8- Machine’s Maintenance -==--=--------------- Page 15
8-1- Filling Hydraulic Oil ™ =sr--mmmmmmmmmmme e Page 15
9- Maintenance™Control List ------------------- Page 16
10- Safe Tap'Holder System  ------------------- Page 17
11- Control Cirguit =---------mm oo Page 18
12- Power Circuit =-------=====mmmmmmmmmmmmm - Page 19
13- Drill Diameters Necessary for Taps  ----- Page 20

WWW.AZARSANAT.COM

info@azarsanat.com - @ azarsanat a azarsanat g azarsanat - 66761178 - 66711800 - 66710476



Ve
N L

o

1- Safety

Rules

DEFINING SAFETY INFORMATION

Possible dangers may be prevented by reading explanations.careiuily:
Keep people (especially children) away from working figld durmg tapping
process, except for the operator.

UNDERSTANDING SAFETY WARNING 5

Read manual carefully.

Use your machine at a suitable working en'ii¢hment. Unsuitable
modifications will affect safe operation and origsife of your machine
negatively.

HAVE ELECTRIC INSTALLATIOKI CU-NNECTED BY A COMPETENT
ELECTRICIAN

Your machine works at 380 V.
Machine will not work when phases are connected inverse, because there is
phase protection relay at.the machine.

PRESSURED OIL MAY HARM YOUR BODY

Do not work the machine before putting oil into machine's hydraulic unit.
Make sure hydraulic hose fittings are firmly tightened.
WARNING! THERE IS HIGH PRESSURE IN THE MACHINE

SPREADING METAL PARTS MAY HARM YOUR EYES
Matal.parts may jump out when tapping. To prevent injuries arising from
‘higmeason, you have to wear protective eye glasses for job, with edge

protection..
HOT PARTS MAY CAUSE BURNS

WWW.AZARSANAT.COM
info@azarsanat.com - r@ azarsanat a azarsanat g azarsanat - 66761178 - 66711800 - 66710476



1- Safety &)
Rules

Heat will occur because of tap's friction to material. Do not touth fiot parts
with bare hands.

UNPROPER USE OF THE MACHINE

This is a very important chapter because in the past purchasers of
ACROBAT tapping machines used it in a manner;fhat endangered the
persons in the vicinity of the machine and the environmeut in which the
machine was located.

The machine is built mainly of steel and ¢an not be'used for combustible
materials and harmful. The customer must check whether the processed
materials meet these requirements and do.not pose a threat to people
living in the vicinity.

Placing any part of the body on.the machine while the machine is turned
on is prohibited. It is also prghibited to place on the machine or near the
machine materials that are not. mounted on the machine for processing.
These materials may be under the.influence of a working machine
vibrations and cause a threat to the health of people in the vicinity.

It is forbidden to operate the machine by people who are not familiar with
the manual. -

The user is required ta.secure the area around the machine to protect
bystanders from being hit by a moving part of a machine or workpiece's
splinter.

The machine must be operated by no more than one person (the operator)
akQAmey 4

Orerate-wearing clothes with narrow buttoned cuffs.
ongshair should be tied up.

WWW.AZARSANAT.COM
info@azarsanat.com - @ azarsanat a azarsanat azarsanat - 66761178 - 66711800 - 66710476



1- Safety Nt

AN _}
Rules

If you notice irregularities in the operation of the machine immédiately,
stop the operation and contact your service representative.

It is forbidden to operate the machinery while intoxicated.
Children can not approach the machine.

When the machine is running, stay clear of the rotéting tap
It is forbidden to leave the machine running unattended:

When the machine is running do not perform any operations in its
surrounding area.

Never service the machine with motor On.

Never operate, service, repair or adjust machine without proper
instruction from your supervisor and witinout reading and understanding
the instruction manual.

It is the employer's respofsibility to implement the above instructions and
to provide proper safely measures necessary for each particular use,

operation, setup or service of the machine.

Do not remove'the 1abels from machine for any reason.

WWW.AZARSANAT.COM

info@azarsanat.com - r@ azarsanat a azarsanat g azarsanat - 66761178 - 66711800 - 66710476

o



2- Noise Emited By The

Machine

The device properties used to measurement.
Model : Delta Ohm HD2110
Serial Number : 14000044R

Results of measurement

A point 72,2 dB(A)
B point 72,5 dB(A)
C point 71,5 dB(A)
D point 70,5 dB(A)
E point 70,0 dB(A)

L -
4 ~ e
-
. T
J N
‘.\ ‘ﬁ,
% 1 %
VAR N
W F Y
P \ J'
e
S ' af
& J

WWW.AZARSANAT.COM

info@azarsanat.com - f@ azarsanat o azarsanat Q azarsanat - 66761178 - 66711800

BN
A WQ

The measurement condition was made as below : 15 °ngg %"5; Rh

.

a
4‘.

~

- 66710476



3- Machine's usage O

S N .

Acrobat M36 Hydraulic tapping machine is designed to help youpérform
your tapping works easily, quickly and economically. It provides you with
fast tapping possibility thanks to special hydraulic system with high torque.

Connection is vertical to ground thanks to its acrobatic arm, horizontal
operation is possible if you desire. Prevents the breakage of tap thanks to

safe type tap holders, and provides savings for you.

Thanks to its mobile table you can easily carry and operate it anywhere.

4- Technical
Properties

L{"‘- \/ 5- Standard
Accessories

WWW.AZARSANAT.COM
info@azarsanat.com - @ azarsanat a azarsanat g azarsanat - 66761178 - 66711800 - 66710476



6- Machine Q\
Assembly N

Place the base flange of machine in such a way to fit table connection holes. ™M e
sure you tighten bolts after you place them with suitable Allen wrench.‘ ’; 2 “
WARNING! Make sure the connection surface of table is clean. = o - &
The smallest defect here (burr, small metal pieces) will prevent )’:)ur machine to
work vertically to ground. After you place the bolts, remove pa.cna‘ée bands and
uncover the machine. NN

9 -
To make machine adjustment for 90 degrees (See Pictdre-4) lodsen'bolts with
number 1 and number 2 as in the picture (2 bolts fagingcacHother). So that front
head group will become free. . W
Press the mouth to which safe tap holder is conreciedfiemly on the surface you want
to carry out tapping. (PICTURE 4/ 90 degrees ot Icaniugémouth) Tighten bolts with
number 1 and number o & @&
2 again after surface leans. Make sure surface 'eaning does not change during the
process of tightening bolts. In that way 90 dcgrecsradjustment of your machine will
be done. q -

NI .~ PICTURE - 1

Al

Hard;less adjustment mechanism which allows lifting its weight is available

on the acrohatic arm [See Pictiire 1) Frant narallel arm oronn hardnesc

WWW.AZARSANAT.COM
info@azarsanat.com - r@ azarsanat o azarsanat a azarsanat - 66761178 - 66711800 - 66710476



{ 7- Operation of Q.

Machine NS 4

Machine includes a 5.5 kw electric motor. Firstly measure the cuffénts
coming to plug you will use before connecting your machine to u& and
operating it. It must be 380 V between the phases and 220 V bet tween .
phase-neutral. If alternating current is reaching to system. it wil damage
electrical system of your machine. In this situation, usea rﬁguﬁt?r to
balance phases before operating the machine.

WARNING! Otherwise electric faults which may occur w111 not be in
scope of guarantee. P ¥

Electric installation has phase protection relay. So that when phase with
reverse order reaches to electric motor, phase pr.otegthn relay activates
and prevents the reverse operation of electricamotor and hydraulic pump
which 1s connected to motor from WOI'klII&lHd‘CVgDSC direction, and
protects the system. (See Picture 2) In.such@ situation if the machine is
not working, remove machine's three pha&e electric cable and connect to
another suitable three-phase sockf,t “When the phase coming to motor is

correct, system will activate. w, 2
T Ty, YV
N\,
- A4
W o N\ "4
i @&
w oS
Vae S

" .‘ “§'6‘£h green and [ﬂfﬁl l &
_red lamps turn 5 ﬂ Only red lamp
— turns on.

‘ﬂ‘,

»VI x4 On.

PICTURE-2

\ j/ FLAT PHASE REVERSE PHASE

WWW.AZARSANAT.COM
info@azarsanat.com - f@ azarsanat a azarsanat Q azarsanat - 66761178 - 66711800 - 66710476



MOTOR

MOTOR STOE
START

3 PHASE , ON-GEF
SWITCH

v x C wd
7-Operation of "

Button on haMa@hilwacrobatic arm'(See Picture 4) adjusts

machine's spindle rotation direction. Button Stays at middle position
automatically when machine is.not used and spindle does not rotate. To be
able to turn spindle clockwisé€. press and hold the button to left. In that way

spindle will rotate clockwise. When you press and hold the button to right,
spindle will rotate countef“clockwise.

\
RING u

SPINDLE -1

\
SAFE TAP HOLDER Jr

WWW.AZARSANAT.COM
info@azarsanat.com - @ azarsanat a azarsanat Q azarsanat - 66761178 - 66711800 - 66710476



7- Operation of a

Attach the tap yMﬁgh&ng to tap holder with suitable metric

according to your tap. If the tap you will use is attached to a tap bolder of
different metric, your tap may break because of torque disagreenent. Flace
the teeth near tap holder in such a way to fit teeth sockets at the énd of
module, by pushing the ring on module at the end of spindiz upwards, and
release the ring; locking mechanism will work automaticaliyiancd fix the tap
holder. ( See Picture 4)

To remove tap holder from its place, it will be enough to lift ring on module
upwards.Bring the tap (which is suitable for the holegouidiilled beforehand,
or which you will tap) on the hole and press slightly «fd provide mouthing
(diameters of holes to be drilled according to taps for'tapping can be found at
the end of guide).

Then by pressing button to left side, make spiiidiciidrn clockwise. This way
tapping tool will begin process of tapping.for'hicle. When the process is
done, by holding button pressed to the rightmake the spindle turn counter-
clockwise. In that way tap tool wilkcome back from tapped hole. If you
lubricate the tap with suitable grease before contacting with the material it
will increase cutting speed and exicnd. the life of the tap.

Machine's transmission assembly has two stages. It works at 250 rpm speed
at 1. stage for tapping ptoeesses between M5 and M20 (by making slower as
tooth gets bigger via precision speed adjustment reducer) and it works at 2.
stage 125 rpm speed*for youi tapping processes between M22 and M36 (by
making slower as tooih Zets bigger via precision speed adjustment reducer).
WARNING! You iiced to'work at 2. stage after M20. Otherwise hydraulic
system and transmission system may get damaged. If you use it otherwise
your machine wiilbe out of guarantees scope. Stage transitions are adjusted
via high speed switch located at the right side of the machine. [See Picture 5]
. Wheri the high Speed switch is closed , the machine works at 250 rpm
speéd. When'the high speed switch is opened , the machine works at 125 rpm
speed.

WWW.AZARSANAT.COM

info@azarsanat.com - @ azarsanat a azarsanat azarsanat - 66761178 - 66711800 - 66710476



7-Operation of ;‘«.1

Machine o

Ve .P

PICTURE 5
T Ty, W
\ ¥V .
P W ¢
& I™ W
i @&
e N 4
4~ e
& oand
. u &
J Mo,
‘. ‘ﬁ,
% 1 Y
VAR,
WT 7S
P | &4
] Bt =N
S 'S
& v

WWW.AZARSANAT.COM
info@azarsanat.com - f@ azarsanat a azarsanat Q azarsanat - 66761178 - 66711800 - 66710476



[ 7-Operation of O

St N

[ ]
Acrobat M36M3£chﬂl@ machine works at two stages. It workS+at 250

rpm speed at 1. stage for tapping processes between M5 and-M20 “(oy
making slower as tooth gets bigger via precision speed adjustmitiit icducer)
and it works at 2. stage 125 rpm speed for your tapping processcs beiween
M22 and M36 (by making slower as tooth gets bigger via-precisivii-Speed
adjustment reducer). It is possible to adjust spindle cycle at speed*adjustment
dimmer, according to size of teeth you will tap. You can’usé it at’any speed
by reducing cycle by using accurate speed adjustment dimmer for bigger
teeth; and increase cycles with accurate speed adjustment~for smaller teeth.
Acrobat M36 hydraulic tapping machine can carry out tapping horizontally.
When you want to carry out tapping (See PiCture 6) ‘slightly loosen bolts
with number 1 and number 2 as seen on the picture“(two bolts looking at
each other). This way the front head will tura_to Horizon and tapping head
will be able to rotate 360 degrees.

Then only tighten bolts with number 2 and leave bolt with number 1 loose.
Because head group needs to be freg during horizontal tapping process. It is
to ensure that head and related tap move easily at the axis of hole you drilled
during horizontal tapping, and being able t0 adjust itself according to angle.
Your machine is ready for horizontal fapping process.

WWW.AZARSANAT.COM
info@azarsanat.com - @ azarsanat a azarsanat Q azarsanat - 66761178 - 66711800 - 66710476



If you put tap holders whose job finished to the tap holder sockets at §ides
you can prevent possible accidents.

When your job ends with the machine, press the motor stop (red*buttoir)
button at the unit and close ON-OFF switch. Keep acrobatic armrat closed
condition when you are not working with the machine.

8- Maintenance of Mac¢hme

Fill oil tank in the table with minimum 901t, maxfmum 00 It with hydraulic
oil (grade 46). _ . |

Periodically change hydraulic oil after 2500 houts oi*usage to use hydraulic
motor and machine at desired performance with long lif€.

Track oil level with indicator at certain periods. Clean the inside of safe tap
holders with pressured air at certain periods. Othiérwise there may be breakage
possibility for the taps. 16

STORAGE .
~OVT

PICTURE-7

To change shydraulic oil, open blind plug at the bottom of machine and
cvactate,hydraulic oil. After hydraulic oil is completely emptied, tighten blind
pluz again at its place.You can fill hydraulic oil (grade 46) with funnel
(mindmum 90 It, maximum 100 It) by opening storage cover.

WWW.AZARSANAT.COM
info@azarsanat.com - @ azarsanat a azarsanat Q azarsanat - 66761178 - 66711800 - 66710476



9- Maintenance Control

List

MONTH |EVERY.2500

CONTROL POINTS 15 HOURS

DAYS |LY

HYDRAULIC OIL LEVEL CONTROL 8

HYDRAULIC OIL LEAKAGE CONTROL

HYDRAULIC OIL REPLACEMENT

GENERAL CLEANING

= ‘
CONTROLLING CONNECTION BOLTS 7| “_ *

CONTROLLING ELECTRIC CONNECTION_Ef LN
X

CLEANING TAP HOLDERS l *

| A—

e

10- Safe Tap Holder

Safe typ&yﬁtﬁm produced separaiely for each metric tooth and they
have a torque-adjusted system inside of them. This system is adjusted by
producing company according to torque values which prevent breakage of
tap you use, and prevents béing exposed to too much force. It reduces tap
breakage risk to minimpm: If the hole you use for tapping is a blind hole
and if tap reached to bottom orif tap cannot move because of the jamming
of burr created during tapping process or similar reasons, this torque-
adjusted safe tap holder will become activated and even if you continue
working for tapping. the machine's spindle will turn but will not rotate the
tap and tap,will.not move. So that tap breakage risk will be reduced to
minimum. Also decay of tapped part and tap tool costs will be minimum.

WWW.AZARSANAT.COM

info@azarsanat.com - @ azarsanat a azarsanat g azarsanat - 66761178 - 66711800 - 66710476



10- Safe Tap Holder AN

e -

System

According to variety of the tap you use and the hardness of part for which
you are carrying out tapping, torque values of tap holders can be adiusted
manually. Torque hardness of safe tap holder can be increased or reduced. If
your tap breaks before tap holder is activated remove wire_segment at the
front side of tap holder (See Picture 8) as seen in the picture. rotate interior
hub of holder one grade in counter-clockwise direction in such a way to fit
wire segment entrance holes on the hub, and place svite segment again to its
place. In that way torque value of your tap holder wi'lkbe reduced and your
tap will not break with the activation of safe torque system before your tap
breaks. To operate safe torque system at later.and higher torque values,
apply the above mentioned process by raotating clockwise. In that way
torque value of tap will be increased and torque system will be activated
later.

WARNING! Attention must be paic at this process because the breakage
risk of tap will increase as it will be exposed to bigger force

A THE SOCKET WHERE
AT WIRE SEGMENT
IS PLACED AND CHANNEL
y SHOWN WITN ARROW MUST
\'\ COINCIDE WITH EACH OTHER |

WIRE SEG\IENT |

PICTURE -8

WWW.AZARSANAT.COM
info@azarsanat.com - r@ azarsanat a azarsanat g azarsanat - 66761178 - 66711800 - 66710476



11- Control Circuit

N\
4
Y

BN
— \‘ 4‘:
(. /R :
; ::T. N / 2
Ed ® P\ " 3
x
';‘ 9. P
A &N
B 4 N e
§ ‘ﬁ & N )
» (= ) =24k = - W O I
P g Ty,
2, A Y 4 gL
s 2N By
T n e N @& 7
) B Na M WE s
94 SN 4 5
‘Q z Y
4 -\
S %tae Ty, WV an
-t | ¥ T B | o ) e
R U3 o S
o - |
» RSN w-s A 4
F I
54 N A é - P
- Lo m
22 e IO o o
“- A&h-
& i l\v.“'
. 4 x z
D — ”
&5 M= 3 o =
N . i

% )
VAR,
WT 7S

P | @ 4

R Vg

S 'as
LN/,

WWW.AZARSANAT.COM
info@azarsanat.com - [§] azarsanat a azarsanat azarsanat - 66761178 - 66711800 - 66710476



12- Power Circuit

? 9

B U W DU

" 19 0 ¥

o ¢

Y010

A1

g
2

WWW.AZARSANAT.COM
info@azarsanat.com - azarsanat azarsanat a azarsanat - 66761178 - 66711800 - 66710476



METRIK 1SO VIDALAR DIN 13

Anma Capi
{ing)
M1 x028
M1.1x025
M12x0256
M14x03
M16x035
M1.7 x035
M18x035
M2Zx04
M22 x0.45
M23x04
M25 x045
M286x045
M3Ix0S5
M35 x006
M4&x07
M4A5x075
MS5x08B
M55 x09

MOx 1
M7x1
MBx 125
MO x 125
MOXx15
Mi1ix15
MI2x1.75
Mi1d4x2
MiEx2
Mi18x25
M20x25
M22x25
M2M4x3
M2Z7x3
M3 x35
M33x35
Ml x4
M3O x4
MAZx45
MaSxas
MaBxS5
M52 xS
MG =55
MBOx55
MB4xB
MEB <8

S 7 Ak
58"

N D B
‘V 7:°'o
118"

Matkap Capi

()

METRIX INCE 1S5S0
VIDALAR DIN 13

Arnma Capn Matkap Cape
(ing) (mm)

0.7% M4 x038
0.88 M4 x05
0.95 MS5x05
11 MEx0S6
1.25 MExOT7S
13 M7x075
1.45 MBx05
16 MBx07S
.75 MBx1

19 MOx1
2.05 M10x0,75
21 M10Ox1t
25 M 10x 1,25
29 Mitx!
33 M12x0.75
37 M12x!
42 M12x1.5
46 MIZx1

5 YRS

6 MI1Sx1256
68 Misx15
T8 Mi1Gx1
8.5 MIGx 1.5
25 Mi8x1
102 M18x2
72 M20x 1

14 M 20 x
155 M20x2
175 M22x1
195 M2 x 1.5
21 2% 2wy
24 & 24515
265 14\{
205 3&5 s’
a2

35 ( ey M& s
375 r4 27 Ry
ws # J"“ 1.5
a6 " b 1.5
a7 ) 4 x2

4 ‘f

Matkap 57
()

135

2225

INCE VIDA UNF - NF

Anma Cap Matkap Cap
ling) ()

SO AR -0

~SeR-FFzzZrZ2%7
"‘_OmO"'.. : ‘ i
" . N o

“pok
b1t L

WWW.AZARSANAT.COM

525

1 9
218
2.4
2.7
295
35
41
4.7
9.5
690
85
29
1.5
12.9
%S
175
20.5
2325

WHITWORTH
Anma Cap
(ing)

116
78
316 _an

P N i

D 4

\2’!’

A‘ 65

¢ K“{ 79

is me
1 12.1
J 15
I 16.25
-4 18
TRy 19.26
o518 21
2
"5 24.75
174 28
Vs 30
12 33s
58 355
T 30
78 415
445

WHITWORTH BORU ViDA

Anma Caps
ling)

S e
G114
Gas
G112
G &8
G4
G778
Gt
G118
G114
G138
G112
G134
G2
G214
G212
G2V
G3
G314
G312

Matkap Capn
{mm)
8e
118
15256
10
21
245
2825
3076
ass
39
425
455
51
57
a3
725
79
855
915
98

info@azarsanat.com - f@ azarsanat o azarsanat Q azarsanat - 66761178 - 66711800 - 66710476



